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Find the number of days between 12th January 2004 and 7th March 2004.

(B) 53 days
O 55 days
(D) 52 days

12 gameuill 20048 @b 7 writd 20044@b GenL u9e 2 6Ter BraTEemeTs samsA O,

(A) 54 prer
(B) 53 pmer
(C) 55 mmar
(D) 52 pmer

If x+y=10 and xy =5 then the value of =+

y x
(B)

(A) 21
p{ 18 (D)

x+y=10 wHmd xy =5 aefld £+—‘2-6'mm§hju

y x
A 21 (B)
(€ 18 (D)

Find the sum of the arithmetic series

31+33+:--+53

“( 504 (B)
©

304 D)

19
20

19
20

404
604

31+33+ -+ 53 erenm sal_(hg Qarfilen sa(HHed HTawTS.

(A) 504 (B)
(C) 304 . D)

404
604
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4. The mean of a group of 20 items was found to be 40. While checking it was found that an
item 43 was wrongly written as 53 calculate the correct mean

W’ 39.5 (B) 43
53

©) - (D) 10

e yerafl efeursdle 20 wdlysaflen gl B gymaf 40. aramﬁa;smm& sflurré@o Cung 43 erenm
wHuy seumisens 53 eran arsLLLL g Gasflweubsg. cueilarsdear slurer &l H&F syreflaws

s &E [0
A) 395 B) 43
(C) 53 D) 10
5. If the “n”th term of the sequence a, = i , find a4
2n+3
10 ' 12
A — B) —
(A) 51 (B) 1
: 13 : i
o == =%
) © 11 ; 21
; ; ; '. n+2 ; ;
@ Qs auflenslen n b 2 gLy @, = — arafley ay snewrs
10 12
A 2 —
(A) 51 (B) T
13 -11
C S —
© % , (D) =
6. A frequency distribution is organizing _ of raw data in tabular form, which can be
represented graphically by
% Histogram (B) Horizontal axis
(C)  Vertical axis (D) Inclusive form

auansULHSSILLTS Larefl alleurhigeaar, Q@(&g vl igwell (Hid Gumrgy Slent_&@b Hlap Ceuar LiTeuame

GUEDTUILLD (LPEILD ——————— GTarmeumm GO L_eomb.
A) FHspQeuar AFcucusid - (B) sisewrer Gfley
(C) Memwomer Gflay (D) e dmarssb 9fey
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TEA

A cone is 8.4 cm high and the radius of its base is 2.1 cm. It is melted and recast into a

sphere. Find the radius of the sphere

(A) 24cm Mz.l.cm

(C) 22em (D) 2.3cm

@ sablan Sglusssear b 2.1 Ge.5. 2wgb 8.4 Gs.8. =g 2 B&sLULB ¢ Cararons
sl Lme Camardslen 47 creome?
A) 24Qs8 (B) 2.1Qs:8

(C) 22Qs8 D) 2.3Qs8

If 4 men or 6 boys can finish a piece of work in 20 days, in how many days can 6 men and
11 boys finish it?

(A) 5days ﬁ 6 days

(C) 17days _ (D) 8days

4 yansar g 6 euweasdar gm Caumeew 20 prisefle wyuurisdr. SeuGaumeraws
6 gpamaer LHMHD 11 LS ardgmaen Brsatle) wpleliLmTseT?
(A) b prLser ' - (B) 6 priser

(C) 7 pmiser (D) 8 mrLger

Evaluate : (256)"'° x(lE;)"-‘“3 =7

M 4 ®) 16
© 6 |

4 ' (D) 256.25

wéliy sreaws : (256)°6 x (16)0']3 =7
A 4 ' (B) 16

©) 64 “ D) . 256.25
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10. Find the difference between simple interest and compound interest for a sum of Rs. 9,000 -

lent at 10% p.a. is 2 years

W Rs. 90

(B) Rs.80
(C) Rs.100
(D) Rs. 110

g5 9,000 &g 10% el &isb erafler @ramh yeamrhHaalsd Hals@b sl @ il iys@n s

Q13 &G 2 arer NSSHLnssmas s

A) e 90
B) ¢ 80
(©) e 100
D) e 110

11. If A:B=4:6 and B:C=18:5 then A:B:C is

(A) 4:6:18
B 2:3:9
(C) 4:6:56

y 12:18:5

A:B=4:6 eaaweybd B:C=18:5 erameyd> @u9enr A: B:C =7

(A) 4:6:18
B) 2:3:9
(C) 4:6:5
(D) 12:18:5
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12.

13.

Two sound waves are y = a.sin(wz - kx), .y =acos(wt — kx) the phase difference between the

two waves is

e

B)

©
D)

=
2
ul
4

T

Zero

y=asin(wt — kx), y = a cos(wt - kx) arénug Qran® g6 Smasailen swearum® oG, SeunHine

@enL_CGuws 2_arer L Ceumuim(®) eremmen?

A)
(B)

(©
D)

IR

g
4
T

Zero (&)

In SI system of units, the unit of solid angle

Radian

Celcius

SI wiwE eapuie, Hamns Caramsdler G

&)
(B)
©)
D)

Crgwies
aig Crigwien
g &Il

QFadlwuey
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14.  Which of the following is most abundant in earth’s crust?

C. Carbon

% Si. Silicon

Ge. Germonium

(D) Sn.Tin

Gerameuanauppier 618 Lelliile) oiflswns e &8pg?
(A) C. smruen

(B)  Si. Aedlsen

(©) Ge. Qgiworefluwib

(D)  Sn. igen

15. = Select the correct statement with respect to d-block elements
(A) They are all metals
(B) They show variable valency

(C) They form coloured ions and cdmplex salts

% All above statement are correct

d-Qsr@d saflwrismer QuImss &flwrer smpnemraws CoTHRSE
(A s smasgib o Conshiser
B) sewea Caupul L @amandnasmars Qamam (Herene
(O e flpepérer sweallaamenubd, Siamamre & G&ﬁmr&l&;m-mum 2_(Heumd@dles e

D) CupsmPu S@asgD Fluraame

HTGS/19 8



16.

17.

Match the following :

(a) Nokrek
(b} Namdapha
(c) Nanda Dewvi
(d) Sundarbans
(a) (b)
A 1 g
®B) 4 3
Y
.M 1 3
QuTmSSIs :
(a) prags
(b)  mgur
(c) pHsrGsei
d) sBsTeusd
(a) (b)
A 1 2
B 4 3
< 4 3
D 1 3

(c)

B - B

N = R

AW e

(d)

bO DD =

e e

(d)

Uttar Pradesh
West Bengal
Arunachal Pradesh
Megalaya

2 &7 97CHeD

Gofiy @ sumisLd

.Y @cmrrr&su GrGse

Guameown

The method of permanent birth control in male is

(A)

B

(©)
D)

Tubectomy
Vasectomy
‘Thyrotectomy

Hyserectomy

D ETHEHEETET PIT HEOWITERT HHSSEML_ (LPEDMILIM(E LD

@A)

7

©)

)

CRINLATEE-IT.)
curQesL

_ mg,(?r;rrésl_ﬂ
@an&maL Lol

HTGS/19-

[Turn over



18. Which act ecurbed the freedom of the press at the time of British rule?
The Vernacular Press Act of 1878 (B) The Charter Act of 1833
(C) The Arms Act of 1878 (D) Rowlatt Act of 1919

< afGaw 2 Hufen Curg Qarar® curiiul L LSSHNEmas SenL_& LD e1g)?
A)  smuGwmh usgdfleas 5L b 1878 (B) 1833 uliLwés L
(C) 1878 uenL&&@é& & _L1b (D) 1919 Qpemevl &L 1b

19. Match the following :

(a) East India Company’s rule came to an end 1. 1919

(b) Communal representation introduced >, 1935

(¢) Dyarchy was introduced in provinces 3. 1858

(d) Introduction of Dyarchy at the centre 4. 1909
(a) (b) (c) (d)

Ay 1 2 3 4

& s 4 1 2

< 3 1 2 4

(D) 4 3 2 1

Spsearcupenn QUT(HESs :

(a) SpsfpdHw spQueiuler oL & (piy.aysE aumse 1 1919

(b)  euuyauril ArdHldsgeb odlpsd 2. 1935

(c) wrsravmBsaia @i wim 8 bapsbd 3. 1858

(d) wsHuller Grienwn & sdlapsbd 4. 1909
(a) (b) () (d)

A 1 2 3 4

B) 3 4 1 2

© 3 1 2 4

D) 4 3 2 1

20, Identify the incorrect pair : ‘

I. Brahmo Samaj - Raja Ram Mohan Roy — 1828

IL. Young Bengal Movement  — Henry Vivian Derozio — 1909

III. Arya Samaj - Swami Dayanand Saraswathi — 1875

IV.  Prarthana Sama) - Atmaram Pandurang — 1888

(A) Tonly IT and IV only

(C) 1II and IV only (D) IandIV only

SEUMTET E)EHERTENILI BEHL_LITETLD &Tewr :

I. (S7ibio FLOMEYLD - gregm gmd Guorgen ymi — 1828

IL. Gemb aurusTaT GUISSHD - Qaner elefwen QLCrrACGwir— 1909
I, =yl swrgbd - . saumnf gurabhs sgeveudl — 1875

IV.  Qgrirgsenen gommid - SLSWIMTD Lrer(Hinm — 1888

A Twlieo (B) 1I wpmid IV il Hid

(©) I wombd IV bl Hb D) T wpmd IV wl Hib

HTGS/19 10



21.

22.

According to Mercantilists and

importance.
(A)  Agriculture and industry
(B) Trade and industry

M Industry and manufacture

(D) Industry and export

caflsanssfan mppiLy p b
p&Ewsgieud uMlbSsTs HHSILIGEDS.

(A) Ceauermamenwo HMID Ggmided

(B) aumaflubd wpmib Agmfe

(C) Gsmflé whmib 2 HuGS

(D) Gzmfier wpoIb gHHLS

were ranked second in

FODEET @yeRrLTeug)

To check inflation Central Bank ————————— the cash reserve ratio.

M Increase

(B) Decrease
(C) Maintain the same level

(D) Does not make any change

vewreisagms H_HULBHSS, mwwend Arrss Gmuy eigsams

A) <=Hafsgn
(B)  @onsEw
(©) &Creerauns @masdmeEn

(D)  apg 6flp wrppapd CFlieugldame

11
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23.  Match the following :

(a) Quantitative credit control measure 1. Direct
(b) Qualitative credit control measure 2.  Bank rate increased
(¢) To control inflation 3. Bank rate decreased
(d) To control deflation . - 4, Indirect
(@ - (b) (c) (d)
ya’ 4 1 2 3
B) 1 2 3 4
C) 4 2 1 3
D) 1 2 4 3
sflwrs Qummsss : '
(@) sLem djemeys sLHUUT_(H penD 1 Crrig. (penm
(b) sLen gameno sL_HLILNTH panm 2. aumdl 6igb Fsfsasiu@n
() ueweisssms sL_HUUMDSES 3. auridl eisLd G@mmaEsLILHID
(d) uvemeurLsms s_Hlubss 4. LDENM(LPS (DD
(a) (b) © (D
(A) 4 1 2 3
B) 1. 2 3 4
) 4 2 1 3
(D) 1 2 4 3
24. Match the following :
(a) Basic goods 1. Cars
(b) Capital goods 2. - Plywood
(c) Consumer goods 3. Machineries
(d) Intermediate goods 4. Cement
(a) (b) (c) (d)
(A) 4 1 2 3
4 3 1 2
) 4 3 2 1
D) 3 4 1 2
sflwreneng ClummSss :
(@) gl LT kigeT 1. wépaybs
(b) epegen uemTL RISET 2. Slenerey
(c) msreyl uTLBigeT 3. Quinglymiser
. (d) @ bleve Liewr_miger 4. SQuwemr_
(a) (b) (c) (d)
(A) 4 1 2 3 ¢
(B) 4 3 1 2
<) .4 3 2 1
D) 3 4 S 2
95, By whom defined “Every branch of knowledge has its fundamental discovery in mechanics, it

is the wheel, in science fire, in politics the vote similarly in Econoniics in the whole commercial
side of mans social existence money is essential invention on which all the rest is based.

(A)  Seligman (B) Daldon (C) Fisher ' Crowther
Smanggl urLl Gfeleyd e sar® iyl 2 ar@. apdrelwald sssrapd, idlefluelad Sujb
<rflweier eurd@g FLHd @mwuug Cure Qurmeflueid wallg supsmu eumpsmauie eureaflassde
LeTD 6@(1h (&AW s (HINig LILME@ELD HDENEUEET DHSFID SHenSF F1THCSH 2 eTerg) eTeus daluicu
(A) QsadsCuoen (B) vLmeoen (C) Qegi (D) &Qgenssi

HTGS/19 | 12 . o



26.

27.

28.

Taiga forest :

Consider the following statements, choose the correct answer using code given below :
(1) These are the largest biome located between 50° and 60° North latitudes.

(ii)  More than 1700 species of trees are found in these forest

(111) Trees shed their leaves during summer

(A) (1) only corfect : 39' (1) and (11) are correct
(C) (1) and (iii) are correct (D) (1), (11) and (i11) are correct
eafllees sn(gear (Taiga forest)

Spamemild aursSwiisanar D{gLILGHL WIS Glasrr@m@ a:rﬂu_lrrstfr ellevLenw  Casr@ésuul_(Herer
GO saielmhg Coie] CFus.

(1) 50° apaed 60° euL. g6 (pasn@&@és@ @epLufled ienopgicter @Hsd sTHSECET WaL Quilw

o uilflemd @Wweumll_MISET @0
(1)) @Gssr@safle gnsgmnu 1700 cumswimer reum&s&HaT aar’rm‘ruu@aﬂmmm
(i) @owrhsed CareaLsrasdla @amasaer 2 £ig) el Hdlamer

A (Oovlpoefd - '(B)' (1) womb (11) b F
(©) () womd (i) b & ' D) @), (i) womw (ii1) b &M

Which of the following statement is/are correct?

(i) = Tobacco is said to have been brought to India by the Portuguese
(i)  India is the third largest producer of tobacco
(ii1y  The major tobacco producing states are Tamil Nadu, Andhra Pradesh and Karnataka

(A) (1) only correct - ' (B) (i) and (iii) only correct
(C) (1) and (i1) only correct y (1), (11) and (i11) correct

eraumib sammisatis sflwireneney erg)/erancu?
(1) yensuleme Cuisas&SAwgre (psern paors QbHwurelneE QararBeuriiu’ L g

(i) yesdee 2 pusHuie QbHur aparmreaug QL sms Qunng
(i) ~ @BHwreler ymslow 2 pusd Gewubd wrflomsd SWPHTE, SHATIITCSFD WHMILD

SMHIL_&LD
(A) (1) w_{Hw & (B) (i) womib (iii) b &
(C) (1) wpmb (11) b & D) (@), (i) womd (1) b Ff

The heavy air traffic in the world is that between the city of

(A) Japan and Tokyo w LosAngeles and Newyork
(C) Singapore and Malaysia (D) London and Newyork
2 élen Qadiibg elwren CunsEGeursg Qeusi(m BarmisEhsdleaGu g;wLGuglélehmg.
(A  goumer - CLradlCur ) (B) ameveErgeen ~ Blupuinis
(C) Amsiyr— wCodlwm (D) @evamran — HluLwimis
13 HTGS/19
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29. Nuclear Test Ban treaty was signed in
(A) 1965 (B) 1993
W 1963 (D) 1998

2Igm) ..9‘__5&]5 gL @UUBSLD &6 WLI(LSESTE e (H

(A) 1965 (B) 1993
(C) 1963 ' (D) 1998
30. How many unites are there?
@ 3 ®) 4 & 5 ™ 6

BHLGLTTenemaafien cramenfléans aTgHenen? _ _
@A 3 B) 4 ©) 5 D) 6

31. In which one of the following electors participate in government indirectly?
(A) Direct democracy
(B) Monarchy
(C) Oligarchy

Representative democracy

TS (pernuiled irsmhssHd cunssTeniser wWeDPHLNTS LRGCSHEDTTHET?
(A) ComflenL wasemm &

B) pywurld

© Ap eueur 8

D) Gy Hdsge weserm 8

32.  In which year Right to property has been abolished?

M 19 (B) 1478
(©) 1947 (D) 1950

Qerggifieno BEsLLL < ar(H erg?
A 1978 (B) 1478
(C) 1947 (D) 1950

HTGS/19 14



33.

34.

35.

Where is the International court of the Justice located?
(A) China

(D) Finland

2 @& B4l e eTHS BT 1g.60 2_aTeng)?
(A) e

(B) =Qwnfssr

(C) Qmsrenbg

(D) ﬂehéunﬁ;g,j

The headquarter of the United Nations is in
(A) Janeva
(B) France

QEHW BTHSET HLPG HENENLDUISLD 6T G ETeTS)?

(A) Gsefleur
(B) Wprewen
(C) Qsenwun
D) Hywnris

Which emblem was adopted by the Vijayanagara rulers?
(A) Tiger

(B) Fish
ﬁ' Boar (Varahaas)
(D) Bow

dlgupsy Sirélen oirs oy arg?

@A)  ye
(B) BSen
(C)  wen (eupmsid)
(D) &e

15
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36. Who introduced many new ragas such as ghora and sanam?

% Amir Khusrau

(B)  Pir Bhodan
(C) Raja Man Singh
(D)  Firoz Tughlagq

. Gerym ererd Gumremm Ly rfﬂaaréi‘assmm D APp&HLD GFSeUT WTT?
(A) oS gevm '
- (B) S CGungenr
(C)  pmeyr weir Sk
D) I_Q(Er,rr_refu &6

37.  Who was the patron of the greét Buddhist Scholar Vasubondu?
(A)  Sri Gupta ) |
(B) Ghatotkacha
(C) ' Chandra Gupta-l

% Samudra Gupta

Ha) Blé6s Uss S0 SIMIEHTTeaT eUsHLIbS eTeLIGLEnT cfgbg,ﬁ]l&;g, (SIS DESTEHIT WIT?
@) et |

B) sCLmgagm o

©)  zerbd spdy GUST

D) sepsdly GLST

38. Tansen lived in the court of
(A) Babar

# Adbar
(C)  Sher Shah
D) Jahangir

sreGae WI(Hen Saeuuldled @mbsmT?

(A) LITLIT

(B)  esur
©)  Cegfagm
D) genrhdT

HTGS/19 16



39. When

was the 550t Birth Anniv of Gurunanak celebrate?
2019 _ (B) 1919
2017 . (D) 2018

Gomprensdler 550aug) AnHs e B erCuing Qamerm Ll L g)?

(A) 2019 (B) 1919
© - 2017 (D) 2018
40. Where these words were taken from Sathyam, Siva.m, Sundram.
% Sanskrit '
(B) Hindi
(O Urudu
(D) English
FSWD, Fleuld, HHSILD 66D eumTgeng&ar b GmPluldedlmbg erGESUULL eneu?
A)  swavd(mHsd
B)  ablb
©)  e@a
D) <yrdew
41, In 2001, a stamp was issued on the historical ruler in India
y Chandragupta Maurya '
(B) -Ashoka
(C) Bimbisara
(D)  Ajatasatru

2001 <yb e @pHu cugeorhdlad .g,smuélmtlj;g, @ AunenHES 2iEhed same Geuafud L g

A)
(B)
©
D)

shSrGUS Qmmﬂmr’r
< CFnaT

QoG ey
SARTBEHD

17 HTGS/19
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42. Dual party system in

(A) India (B) America .

(C)  France #  British and America

B s aperm 2 @rer HrH

A  @sdHur B) =Qwhssr

(C) Qrmens D) Gflgey womb Cwhégsr
43, Vidhyanjali scheme was an initiative of

(A)  Ministry of Youth Affairs and Sports

(B)  Ministry of Science and Technology

(C)  Ministry of Labour and Employment

W Ministry of Human Resource Development

g wimEnsed S ib - @SHMDWITED FIeUsHHILILL G
(A)  elenemwim_ () HDID BEETEHT B BELOFFHD
(B) eiMelwe whmb Gsmflan U mnsssid

(©)  Qsmflemert wHmid CalmeaeumiliL] SEDFFHLD

(D) weflgeuer Cubur’ () SiewFsFsd

44. Misoram State in —

& North East ~ (B) South East
(C)  North West (D) South West
WIGsmyD wrhlen LOTESTEATLD 4,GLD _
A)  a fpss (B) Qsen dlipéis
©) e Cong (D) Gger Gope
45. Physical features like Mountains, Plateaus, Rivers and Oceans are drawn on a
(A)  Political map (B) Thematic map
y Physical map (D) All these

wene&aT, L bladr, oy nsen, sLdsear Cureann @uNmss samsamen cuanhgism_(Heug)
(A) eduse auemyuL_riser (B) a&msg st cuenyuL_riseT

(©C) Quims S@UL UL HBISET D) @aaiwemeanggid
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46. The Second Edition of the Tamilnadu Global investors meet (GIM) held on
(A)  23rd and 24th January 2018
(B)  23rd and 24th January 2017
(C) - 23rd and 24th January 2015
23rd and 24th January 2019

2 augl 2 s WeSLLT&ET LIBETEH HarLGuDD HTs6T
(A) 23 whHmbd 24 spemeurl 2018
(B) 23 whmb 24 menaufl 2017
(C) 23 wpmb 24 memeufl 2015
(D) 23 wpmib 24 geeurfl 2019

47. Who is the finance minister of the India in year 2018
yﬂ’ ARUN JAITLEY
(B) SUSHMA SWARAJ
(C) NARENDRA MODI
(D) VENKAIAH

2018-e @mglwrellen Flfldiewwoésrms Q) mhseui
A) smanQgl e
(B)  sagwr seurry
©  pGrpdrGoms

(D) Qeumienswr

48. India’s first Microprocessor was designed by Whom
W IITM - Indian Institute of Technology madras
(B) IITD - Indian Institute of Technology Delhi
(C) IITK - Indian Institute of Technology Korakpur
(D) IITC - Indian Institute of Technology Calcutta

@ndwunellen s ewaGrm YCrragsamy saurHiig Sgeuiser
4 IIT™ (B) IITD
(C) IUTK (D) IITC

o’ _ 19 HTGS/19
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49, Evaluate 123 x 999 + 123

246999
y 123000
(C) 246000
(D) 123999

wHLAGS. 123 x 999 + 123

(A) 246999

(B) 123000

(©) 246000
!

D) 123999

50. The surface area of the two different spheres are in the ratio of 9 : 25 then their volumes are
in ratio

(A) 8:625

B) 729:15625

Qe Coupul L Camearusetien euearugliysefien elldlsnd 9 : 25 Sieum e seor a{srrmadﬂm EHEF T
(A) 8:625 |

B) 729: 15625.

(C). 27:75

D) 27:125
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53.

The ratio of boys to girls in a class is 5 : 6. If the number of boys is 30, find the number of
girls

9(' 36 - B) 46
© 32

2 (D) -42

@m eugLlilbled o ¢rer wreaweu wrevellsatien ellfgn 5 @ 6 wrameutsaflen cramraniisens 30 erafle

L mennT el g6l o Gratiﬂmﬂé;sbaa GTGUTEDT ?
A) 36 (B) 46
€ 32 (D) 42

A book contains 300 pages. Each page has 32 lines with the same content, how many pages
will the book contain if every page has 24 lines?

(A) 350 H’ 100

(C) 425 . (D) 375

gauGeurm usssdaid 32 aflsmers Caram. UsgssHar Quwrssl ussmgar 300. G5 Cald
@aQeaurm usssHad 24 aflsarms @@BETE, UssssHar QLISH LESHSET 6TeUCIETEUNS
B®mEEWL?

(A) 350 - (B) 400

(C) 425 _, D) 375

Ifyis iﬁversly propotional to x then we have xy = K for K > 0. The graphis a
(A)  Hyperbola , - (B) Circle
W Rectangular hyperbola (D) Ellipse

Yy g x 2FFEG sod) ofssddmudear, gCsayd ¢m WBlws aanr K >0 -&@
xy = K eren pmb QuplGmmb. @ge cuenruLib eremig)

(A) @dureuemenuid | (B) eulLw

(©) Qgeueus flugeiemenuid (D)  Bereulib
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54. Find the missing term —— : 45 = 35 : 63.

@A) 53 o
(D) 55

© 35

NHULL eremr &imenTs.

: 45 =35 : 63.
A) 53 B) 25
© 35 (D) 55

55.  The cost price of 16 notebooks is equal to the selling price of 12 notebooks. Find the gain

percent
(A) 24% M 331 %
(C) 16% D) 12%

16 Cpri@u yssshseaier oLsaelaa 12 Crm @ yssemsafler aflpuemen ellwasGs swid. @ger

@eru 865510 sTeETS
A) 24% B) 331%
©€) 16% D) 12%
56.  The sum of four consecutive even positive integers is 1284. Find the smallest number
4) 320 7 a8
(C) 324 (D) 326

BrenE@ M550 QL s @@Saaﬂeﬁ ga(hza 1284 erafley eupidlen Wa& Hlws eremr

SIS
(A) 320 ¢ (B) 318
(C) 324 (D) 326
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57.

58.

59.

60.

|7 IRt (D)

Find the sum of the arithmetic series

5+11+17+...+95

(A) 700 (B) 600
800 - (D) 900

5+11417+...+ 95 eranp sal (DS QgrLflen sa(Higed Sreawrs.

@A) 700 B) 600

(C) 800 ' (D) 900

1 1 ) PP R
(1+J§)+(J§+J§)+(J§+JZ)+ +@+J100

A 1 B) 5
© 9 (D) 10

1,1 S e
(1+J§)+(J§+J§)+(J§+JZ)+ T /99 + 100
@A 1 | | ®) 5
9 | (D) 10

If the product of two number is 5 and one of the number is % then the sum of the two

numbers is
A) 45 B) 4
5

@

Qm eramsaflen UMmEEGS AsTens 5, SiuDHe e eretr % erefled @)(m cresrsatlen snHswrans)

@& 41 (B) 43

© 42 . D) 5%

What is 95% of 45987

(A) 4800 M 4840

(C) 4850 (D) 4880

4598-a51 95% wig)?

(A) 4800 “ . (B) 4840
(C) 4850 (D) 4880

23
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61. Find the sumof 7+14 + 21 +... + 490

(A)
©)

16395 | M 17395

18395 (D) 19395

T+14+21+...+490 erenp Agrfen g (H e
(A) 16395 (B) 17395

©)

18395 (D) 19395

62.  If the volume of a sphere is l—gé-:r then its radius is

(A) i cm V 5 cm
3 4
3

(C) 3 cm (D) = cm

E:r & Q&b sen e Garam. Carearddlen uTib eranLg)

B 2 oms ® 3 Qss

3 , 4

© 3aqss ® 2 Qs
2 ' ' 3

63. Thermistor is a

(A) Material with positive Thomson effect

W Material with a negative temperature co-efficient

(C)  Material with a positive temperature co-efficient

(D) Material with negative Thomson effect

Qsimdlevmi eremig)

(A)
(B)
©
(D)

HTGS/19

Gmir gmibges eflenere Qarer_g
ardlis@H WeangenL Qeuliuflene erar GamearL g
CrrégM WenseamL Qeuliufleney ereir GamawTg)

ardit gmbaen eflenerey QaETarTL g
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64. The phenomenon of transfer of heat without any materlal medium is known as

M Radiation

(B) Convection
©) " Conduction
(D)  None of these

L®BLUAUTHET 2ar_sib gievemmuliend GeuliLit wrpoprL@D Hepay
A)  sfieSss

(B) | QeuliugveTd

©) Qauius sLsd

(D) CupsearrL ergieyLfldene

65. Oxidation number of sulphur in sulphuric acid is . -

% +6
B)

-6
© +5
D) -5

5555 SBSHD sbsssElem ysellanGanhn erewr

(A) +6 B -6
© +5 | ® -5
66. - In which of the following minerals, Aluminium is not present?
(A) Cryolite (B) Mica
(C) = Feldspar : % Fluorspa_r

- Qéreugmid seflviisafle oi@iflelub Qdarss) org?
(A) AACGumenel (B) ewasr

©)  Quérevurmi | ' | D)  yGermirevuimi

o | 25 | 4 | HTGS/19
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67. In which year nutrition Export Committee of ICMR prescribed calorie requirement for IRM

and IRW?
(A) 1967
B) 1977
ﬁ 1968
(D) 1965

6Tih% eu(HLLD @BSW Ww(mSHiew Dpieys seyandlalern o awmal AnliLs G @f wrdf QBHw DLeEmIsED,
Querenfln @b Caameuliu®b sConfl ojame samens samsdll_(Hd SHgidrarg

(A)
(B)
©)
D)

1967
1977
1968
1965

68. Statement: For a person fitted with artificial pacemaker after 7 years battery for the

pacemaker was replaced by surgery

Reason : The pacemaker lithium battery lasts for 7 to 8 years.

(A)
(B)

'

(D)

Sapm

Statement correct and Reason is wrong
Statement and reason are correct but the reason is not explaining the statement
Statement and reason are correct and the reason explains the statement

Statement and reason are wrong

Qeupens Guev Guwdar QUTBSSIULL @HaIMESS T BaETHSHEREEG G9NE iname
AlEene pped Cuen Cussmasrer url L fulanar wmsgieun wrmdl QummegidermmT?

smyamb:  Guead Guésfd o drar lgdwund umifl 7 yeawhser 1pgse 8 (s euany

(A)
(B)
(©)
D)

HTGS/19

QeweuL_s8migwg).
snm & smyeRTd seum
gapmy & sryenrd 6 e sMyed sahenp eflersselene
gamm &l srgentd #fl sryewid sahenm ellens@GHlemg

MM SeUm STFERTLD S6um)
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69.

71.

An example for C, plant is

7

B)

- (€)

D)

Sugarcane
Potato
Wheat
Rice

C, smeurmisErsd@ @ aThsss6sT(H

is composed of one or more cenospecies that are not able to intercross.

(A smwy
B) 2 (pewen
(C) Cangenwo
D) Gpe
(A) Family

M - Comparium
(C) Herbarium
(D)  Ecospecies
STEUINE (&(LPEUMGLD.
@) 6D
B) &bLCGufuwib
(C) QaprGuflwibd
D) Ephows Apdlend

An example of C,; plant is

(A)
B)
©)

Maize
Sugarcane
Tribulus

ja( Wheat

C; sTeuThISERsE @ THSHESTLH

(A)
(B)
(€)
D)

L&STFESFTETLD

ﬁ@tbl_]

Cfyevein

Cangiemin

27
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=1
b2

Match the following :

(a) Individual Satyagraha 1. 1942
(b)  Quit India Resolution 2. 1940
(c) Cabinet Mission 3 1947
(d) Mountbatten Plan 4. 1946
(a) (b) (c) (d)
A) 1 2 3 4
B) 3 4 2 1
2 1 4 3
D) 4 3 1 2
Qummsgs _ :
(a) sefllsurssHurdlyabd 1. 1942
(b)  GoeuctenerCer QeuelCumy Srwrend 2. 1940
() smiern gig&@p. 3. 1947
(d) Querem Gul Lar i ib 4. 1946
(a) (b) (c) (d)
A 1 "% 3 4
B) 3 4 . 2 1
€ 2 1 4 3
D) 4 3 1 2
73. Identify the incorrect pair. _
(A) - Secretary of State for India ' — 1858
Legislative councils established in the provinces — 1892
(C) A bicameral legislature was setup at the centre - 1919
(D)  Introduction of provincial Autonomy T — 1935
/
QummSSLHD GenerTenw SHaT(Hiy -

. (A)  @bdHu s Qewer — 1858
(B)  wrerarhisefld L wanmisdr gHUBSSIULL g - 1892
(C)  wsHuller Freneu UL OEIHLD BeHLOLIL ~ 1919
(D)  wrarew gananm_ 8 HHipsDd - 1935

74. The famous book “poverty and un British rule in India” was written by
(A) dJawaharlal Nehru (B) Mahatma Gandhi -
‘ Dadabhai Naoroji (D) S.N. Banerjee

“@hHwiredlds aumienouw|d 1AM g6 serepiowHn U Sujb"” erenm LsPAUDHD Bree erpSHiwicuir
A seuamiemed Gn( - (B) wsargon snphd
(©)  srgrumi QperGrred) (D) = erev.erenr. Limenigd)
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75.

76.

Which is not correct statement?

Gender Related Development Index (GDI) adjusts the Human Development Index (HDI) to

reflect measures of inequalities between men and woman.

w Female status in the society

(B) Female per capita income
(C') Female life éxpectaﬁcy

(D) Female adult literacy

HAUDTE GaHEnM Saut (1915

urellar auerisd @Al (GDI) wefls Guobur( @HuS e
Quenra@pédlen_Guwi 2_dter gpssmpaysaiien sereiBHaer

@A) sapgsrwsde Quansafien e

(B) Quewenflen sem au(HLOTETD

(©) Quewrenflen erdlTumiéasiL LL eumpey &mevtd

(D)  Quairesiien cuwigl aubS SHevelblana

Every state has a chief electoral officer. They are appointed by the
ﬂ President |

(B)  Chief Election Commissioﬁer

(C)  Chief Minister

(D)  High Court Chief Judge

(HDI) Gasream(® e,

geubleur(m wrblonisafigib 2 drer sanawannd Csrse sidsrilenws Bluisiiueur

A) GRurss smealr
B) soemws Csaan ByemerTwiT
C) soewési

D) 2 widoamm soeaw U

29
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97 ‘Planning requires a strong, competent and incorrupt administration’ — Who says?

W Arthur Lewis

(B) Adam Smith

(©) J.S.Mill

(D)  Lionel Robbins

Bl bPsese @m adlownllds $Ef  amubs  wHmb  2apedn L Qeligo
SisSHwreudluinreng” - wrm sahm?

(A s enuilen

B) <L wevds

(C) J.5. e

(D) @ewerd grlerev

78. Which one of the following is a direct source of information about the interior of the earth?
(A) Earthquake waves

(B) Gravitational force

M Volcanoes

(D) Earth magnetism .

YemeumeuemeudmieT Lielludlen o_ererentoliL) UDHHlL sseusmer 2Plw 2 g6 b CHiTlg HTTLD 6TE)?
A)  Hophss smeser

B)  yeluSiiy eNengaer

(C) efMweaasar |

(D) yell srhsLebd

79.  In which country uses drip irrigation with high efficiency?

(A) Canada
(B) Mexico
(C) Egypt

y Israel

Qe B piursersems (@sHne e LweTESSID BrH erg)?
(A) HETL_T

B QusaCar

C) adug

D)  @evGréd
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80.

81.

82.

83.

In which country have most important motor way M 257
(A)  Germany ' (B) Italy
(C)  France 9)’ United Kingdom

TS Bl 6 L& (padlwiomer e Corl i uragwins M.25 o dqrerg?

(A)  dsiwefl B) Gssme
()  Qyremev D) @sdu sips

Which Article of the constitution guarantees seven freedoms for the citizens?
(A)  Article 15 (B) Article 16
(C)  Article 18 y Article 19

ehs SiTflueeawly el e SigliumL 2 flambsmer Gl b&sEEéE 2-nif audng?
(A) &4 15 B) 9416

(©) 418 _ D) a9 19

Under which Article, the Governor can promulgate ordinance when the state legislature is
not in session? '

(A)  Article 356 &7 Article 213
(C)  Article 153 _ (D) Article 163

ehs SIrdlwe s eNFliLig L EBBET F L baTpid salrg CUTE QenLSaTe FLL BIGENET @)UIHMETLD?
A) o048 356 : B) o948 213 |
(C) &94 153 (D) &4 163

The Panchayat Raj was inaugurated in the year

(A)  October 27 1956 ;i( October 254 1959
(C)  October 2M 1960 (D) December 20d 1978

LEhFTLISS @rraeluid geusdl ereussul L et ?
(A) 6CGLmur2, 1956 (B) =aGLmur?, 1959
C) =5GLmur 2, 1960 D) gebur 2,1978
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84. Tenth Five Year Plan (2002-07) to priority for

)’ 4

(B)
(©)
(D)

Reduction of poverty and population growth
Basic industries
Generation of employment

Priority to agriculture

ussneug) mnsren(® L ib (2002-07) apengyflento cuprusiiuil L g

(A)  eumend OHMID W&EEET QETME cuTTFSMLIS & DHSHD '
(B) ;amﬁnuem_ Qamfleser |
(C) Caume eumilienu 2 (HeuréEse
(D)  eSeusmuib
85. Who was the chairman of the drafting committee of the constituent assembly?
(A)  Thiru. C. Rajagopalachari ' |

y\

(©)
D)

Dr. B.R. Ambedkar
Thiru. Jawaharlal Nehru
Dr. Rajendra Prasad

27flwe Hlirentw sepuulien cuenTeys G (L Seeveui

(A)
(B)
©
(D)

. C. QurgCarurensemfuim
Dr. B.R. @wCusgar

&(m. peuamiteme) Crm

Dr. @urCgidly Gyars

86.  The spirit of laws published in the year

(A)

s

1948 - (B) 1848
1748 (D) 1648

sl mgaflen o udli eremmm mred Geuafludetiu’ L oyerr®

(A)
(©)

HTGS/19

1948 (B) 1848
1748 ; (D) 1648
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87.  What is the ministry of Diwani-i-Ariz is Sher Shah Sur period?

M In charge of Army

(B) In charge of revenue and Finance
(C)  Foreign Minister

(D) Minister for communications

Qegiagr @ L &é sragdla apg, glanpuller sienwésr “Seunafl iflev” eran DenpssLILIL L TT?

(A) UenL_ S5 D
B)  eumeumis wpHmb HF Hlieursid
©)  <swapes gop

D) ssaud @‘e_r,rn_!r'n_}g glnm

88. - Peshwa's rule started from

)f AD. 1713

By AD.1714
(©) AD. 1715

(D) AD. 1716

Ths r[H s Cuayeunssafien ' 8 Qermdug?

(&) £.9.1713
.(B) C A.9.1714
C) £.9.1715
D) &.9.1716

ol | _ . ' 33 o HTGS/19
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89.  When was the Bhamani Kingdom founded?

(A)
(B)

P e

D)

1325
1437
1347
1341

90.

91.

umdlefl 2ira eruGumpg Camhmelssi L g?

(A) 1325
(B) 1437
(C) 1347

(D) 1341

Shivaji was born in

(A) 1629

(B) 1626

(C) 1628

& 162

Seurg 9DHS eu(HLLD

(A) 1629 | B) 1626
(C) 1628 (D) 1627

Oyilattam “the traditibnal folk from which state?
(A) Kerala
(B) Andra

P

o) . Kamatak_a

Tamilnadu

“guilem_Lib” eremm LIMFLIfW &eme eTHH mn@mgﬁgl_@ QarLiyepLwg?

(A)  Gaerr

(B)  <ypdlor
©€) slPpr@
D) siprisT
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92.

93.

={

First amendment to the fundamental rights for social reservation policies to the state was

brought by

(A)

”

(©)
@)

V.V. Subrémaniya Iyeér
Pandit Jawaharlal Nehru
Mahatma Gandhi

Dr. Muthulakshmi

Fops QL s (& Qameatans QsTLiuns SiqUueL 2 fowwle s &L sHmsssms smanp

Qb

(A) &6 styoafiu guir
B) uvengs ggsugmr’rsnneb-(glf_s@
(C©) warswrETHS

(D)  LmsLi apsgiol sl

Who is the External affairs minister of India in 20197

”

(B)
(©)

(D)

Sushma swaraj
Venkaiya
Arun Jately

Narendra Modi

2019 -& @pHwreilen Qeuafliymeys senm en&sT

(A)
(B)
(©)

D)

&EILOIT FHEUFTER
Geumienawm

21T GlgL_ebl
BCrpély Glomy.

35
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94. BSLVC 44 lifted off with microsat —R and Kalam sat on
(A)  24*h January 2018 '
y 24 January 2019
(C)  24*h January 2017
(D) 24 January 2016

19 6Teh. 6Te0. 691 - & 44, mméa@urr&m'_—R WwhHHD semb g eflerentlad ereuliui’ L mrer
(A) 24 meweufl 2018
(B) 24 gameuifl 2019
(©) 24 geneufl 2017
(D) 24 gareufl 2016

95. Fuel that is used in Jet air craft and stove
(A)  Petrol
(B) . Petroleum gas

M Kerosene

(D) Diesel

evLeu Hmb Qml g efwragdéd uweau@sgn erflQurmar
(A) QulGgmed

B) QuiCymellw erfleumy

(C) wveanCaram@eanT

D)  esa

96. Robert Gallo discovered HIV which causes Aids in Year

@) 1994 1984

(C) 1988 (D) 1985

@umuir’. CaCam eni_enen 2 (meurs@b HIV eeugamans sar® Gy 58 pamH
A) 1994 ; (B) 1984
(C) 1988 (D) 1985

HTGS/19 36



98.

99.

100.

The equator divides the continent into two equal halves

(A) North America (B) Europe
@ Africa - (D) Asia

Hle pH&CaTH QHss sarLgens @rear_rsl 9MN&8ns).
(A) e QuwfésT (IB) sGrrium
©) ufésT (D) Awur

Cyclone Gaja — the word “Gaja” named from in which country?

(A) CHINA M SRILANGA
(C) SUMTHRA (D) JAPAN

5gm__1u_|e§]6b o GTET ST GTEIM surrr'rgemg, THS g;rrL;Lq.aﬂ(_rg(r_'r)g,J Qum ulLg?
(A)  Eer B) ubeomar
(C)  swgpr _ (D) spliume

The decision to start IMF was taken at

(A) Geneva conference W Bretton woods conference
(C) World trade organisation (D) Foreign direct investment

uenarTi (h B Hpeuetd CarbmiellughaTer STioremnd erhi@ HlepmGeummriil L g
(A)  Gmefleur wrprE B) QAL em o e wrprH
(©) o w8 asss SemwLIL D) Swopr @ Coryg WPseSH

The first Human Development Report was published in 1990 by UNDP under the guidance
of ——————— an eminent Economist.

(A) Weiner }H’ Muhahub — Ul — Hagq
(C) Horace secrist (D) Thilak

Wse weallgeuer Gobur’ (H iflsmauneang 1990 1o ety UNDP Blmeuanssmev
eremmm Qumpatlwedepfler anfam Hgelemig Geueflultiud g

(A) @euublesi : B) wsanli-2 @-ans
(©) QapnCGrev Cesfeuv D) daos
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